#65 Vertex form word problems

point(s) you need to find (x ~ ints, y-int, vertex...which part, or some other

1. The equation for a small rocket that is / (height) feet in the air of a small rocket ¢ seconds after it is
launched is h(t) = —16(t — 4)2 + 256.

a. How long is the rocket in the air? %%C/C/ .
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c. About how high is the rocket after 1 second? ([ J -L]efifjr
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d. After 2 seconds, is the rocket going up or going down? Explain. <ty croph (nC % oM
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e. After 5 seconds, 1s the rocket going up or going down? (—l@_\ LN\ Explam.%q{ SN CSUJ( 0 155 (4
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f. Do you think the rocket is traveling faster from 0 to 1 second or from 3 to 4 seconds? Explain your
answer. -\ Al A (S\ope) vorw 0ol ¢ Froomn 3504

2. A rocket carrying fireworks is launched from a hill 80 feet above a lake. The rocket will fall into the
lake after €xploding at its maximum height. The rocket’s height (k) above the surface of the lake after

a. When will the rocket explode? ¢ -ex 3 Qe
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b. At what height will the rocket/fireworks explode? \L\LX 'Q’\* A aa v
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d How long will it take for the rocket to hit 128 teet? SP oW e Sivu w& )
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3. Alis an avid daredevil skateboarding fanatic. His most recent trick involves doing a 720 off a ramp on
the roof of a building landing in a pillow truck on the street below. The equation of his flight off the

ramp is h(d) = —5(d — 3)? + 80 where A is the height in yards and d is the horizontal distance in
yards.

a. How tall is the building that Al skateboarded off? et
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c. How long was Al in the air?
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d. What was the maximum height that Al reached? %D C\
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